Summpeyof tre srsaend’ |
"' z
N I
Cz\ I I
MQM gxtmu’\’\Q
< \fhea oxeem 2 i
=
- Y P -
\/—-;&QA =
=0 2 . :Qzﬂ
O :Q’\A\ O ,
Mox
= =H U=ES,
NS fme = xi=A L A D
£ xAnPLES

Eg2 Aparticle moves so that its displacement

Egl A particle moving with S.H.M. has speeds from a fixed point o,after t seconds is

12 m/s and 16m/s when its displacements from
A the centre are 16 m and 9 m respectively. ! < =12 Sin 4t
Calculate w and A.

— I Find the acceleration of the particle when it is
4 £ i 0.9 m from an extreme position . Find also the

_A o B | A time to travel from this position tg an extreme.
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